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I. What is the Virwal Round-Robin (VERY Please explain its purposes and
functions in details. (109

2. Please draw a figurg (o0 show the relation between the CPU wiilization and the
degres of multiprogramming in a virtual me mary system and explain it briefly, (k)
is it always tree (hat giving 8 pracess more memaory page frames will reduce the
process’ page (aulis? You must use an exunple 10 explain your answer, ! $%4)

3. Describe the wait-die and wound-wait protocols for deadlock preventjon, (10%)

4. Coensider a file cmrently consisting of {00 blocks. Assume that the file cottrol
block (and the index block, in the caze of indexed allocation) is glready in IMemoty.
Calcutate how'many disk i) operations are required (or contiguaus, linked, and
indexed (single-level) allocation strategries, if, for one block, the following
conditions hoid. In the contiguous-allocation case, assume that thete is no OO o
grow in the begimning but there is room to grow in the end, Assume that the block
tnformatian to be added i3 stored in memaory, (5%

{a) The block is added ot e beginning.
() The block is added in the middte.
(e} The block i3 removed from the beginning

3. Explain the tusk of a compiler-compiler such as YACE (1%}

6. CEwplain the following terms: (a) viriual machines, by RISC and CISC (0
Backvs-Naur Form and Chomsky Normal Form (10%)

7. What is DLL (Dynamic Linking Library}? Mow doe it works? What doss the
gystem provides? {10%;)

8. What is program relocation? How do asscmblers be imptemented for program
relocation? (10%:)

9. An interrupt is a signal that causes a conpuler to alter itz normal flow of
instruction execution. Describe the basic process of interrupt hanclling, (10%)



